MULTIPLE CHOICE
Choose the answer that gives the area of the region whose boundaries are given.

1. The parabola y =x* — 3 and the line y=1 ks ;
a) 8/3 ;O

b) 32 I o

) )| 32/3 B
d) 16/3 T
e) none of these

2. The parabola y* = x and the line x +y =2
a) 5/2
b) 3/2 N
c) 11/6
[a) 972
e) 29/6
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3. The curve of y = 2/x and x +y 3 { -
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4. In the 1* quadrant, bounded below by the x-axis and above

by the curves of y = sin x and y = cos x.

b) 2+4/2
c)2 ET[.‘ N
d) \/E Arce. = v o+

e) 242
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5. The area bounded by y=¢",y=1,y=2, andx=3 is equal to )
a) 3+In2 . e
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